Unit 4 Quadratic Graphs Graphic Organizer
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Thic parabola has a MINIMUM since itopens Up.

Forms of a Quadratic:

Standard Form y=ax’+bx+c y-intercept: (0, c)

vertex: (h, k)

L )
Vertex Form y=alx—h®"+k axis of symmetry: x = h

g=-=» Factored Form y=alx—p)(x—q) x-intercepts: (p, 0) and (g, 0)
More appropriately
Naed Notes: [a is the same

— Tndexrcept form Fen N a3 toyms

[Q is d\SO +he vertical
distarce 4o the pardbola
one mit 4o the r|‘3h+ of
L the vertex.
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Graphing Calculator Reference Sheet

Find the
MINIMUM/MAXIMUM,
ZEROS, and Y-INTERCEPT

\

Example: y=x2-4x-12

STEPS 1 PeERE

L1 STEP 1: Enter your equation into Y1 = .YzEX2-4X—12]
O STEP 2: AdeS]' your WINDOW WINDOW I
- GRAPH the function to see if you need to adjust | Xmin=-10 \ i /
your window Amax=10 fe E
Xscl=1
- Press ZOOM : Ymin=-17
- 0: ZoomFit : Ymax=10
- Be sure you can see the vertex and both jntercepts. Yscl=l
- Press WINDOW to adjust again if necessary
Q STEP 3: Find the MINIMUM or MAXIMUM IR P
OND _ TRACE L
+ 3: minimum (or 4: maximum dependlng oh the
parabola)

* Move the cursor LEFT of the point - ENTER
* Mover the cursor RIGHT of the point — ENTER

« Guess? - ENTER obesets  y=1c
O STEP 4: Find the ZERO(S) VisRi-R-12

-PressY = ,setY2=0

- Press 2nd - TRACE

- 5: intersect

- Move cursor to the first zero
- ENTER (3 times)

+ Repeat fo find the other ZERO — Ret2 v20
YisRI-4R~12
O STEP 5: Find the Y-INTERCEPT \ E / ¢
. 2ND_TRACE
E « 1:value
« X=0-ENTER

y="12
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